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Introduction

Suppose you are determined to “prove” that green apples cause cancer. An Optional
Stopping strategy (OS) is where you keep looking sampling experimental data until the
observed correlation between eating green applies and cancer is significantly different
from O (where “significantly” means that the null hypothesis is rejected by standard
statistical tests). That is, you follow a rule that says “Don’t stop until you reject the null
hypothesis”. This is also the best strategy for confirming the existence of UFOs or
establishing the phenomenon of extrasensory perception (ESP) (see Feller, 1940, for the
confutation of this tongue-in-cheek assertion). If the data are ‘noisy’ (and whose data are
not?), then this will probably always work in principle, so not always in practice because
you won't live long enough to collect enough data.

There are two schools of thought about optional stopping examples of the kind that |
consider (see Robbins, 1952, for a more general discussion). The classical hypothesis
testers say that it is a bad strategy if the probability of falsely rejecting the null hypothesis
when it is true is 1. Some Bayesians, and likelihood theorists, say that it all that matters is
how well the hypotheses fit the data, and it makes no difference whether yourcdbeat
by an OS strategy, or if you collatdata with the prior intention of stopping at a sample
size ofn (strategy FS). About the only thing that has never been said about OS is that it is
better than FS (with the samg

What follows is a series of computer simulation comparing an OS strategy with an FS
strategy. The first simulation assumes that the null hypothesis is true, so that rejection of
the null hypothesis is always a mistake. When [ initially ran the simulation, | found that |
had to wait too long for my computer finish doing its experiments (despite its running at
450 MHz). So, | set an upper limit of 2000 data points. For me, 2000 without stopping
counts as “no outcome”. As you will see from the results below, the experiment had “no
outcome” 40% of the time. The next two simulations show how things change when the
null hypothesis is false. The results were initially surprising to me. It turns out that OS
can be a more reliable method than FS most of time. In the final section, | explain this odd
result in terms of an easy-to-understand analogy.

When the Null Hypothesis is True

The first column of the table below is the number of coin tosséstook to produce the
required discrepancy. If the required discrepancy was not met) thé000. The second
column is thep-value achieved. The stopping rule is that .05, so that you will notice
that this is true for the rows in which< 2,000, but false for the rows in whink= 2,000.
The third column gives the estimated bias of the coin (that is the relative frequency of
heads). Those values will be important when we compare the performance of optional
stopping and the fixed sample strategy.



n |pvaue | restimate
2 0.002 2173
2 0.006 -1.937
2 0.015 1.7172
2 0.029 -1.539
2 0.037 1.4727
2 0.039 1.4532
3 0.008 1.5305
3 0.021 -1.326
3 0.032 -1.236
3 0.033 1.2251
3 0.041 1.1766
3 0.048 -1.140
4 0.020 1.1600
4 0.023 1.1304
5 0.048 0.8841
6 0.036 -0.853
6 0.049 0.8028
7 0.030 -0.816
8 0.040 0.7234
9 0.024 0.7474
12 0.031 -0.619
14 0.036 -0.557
16 0.038 0517
17 0.038 0.5011
23 0.039 -0.430
33 0.049 0.3421
36 0.029 -0.362
38 0.043 -0.327
39 0.034 -0.338
46 0.049 -0.289
53 0.046 0.272
58 0.048 0.2593
74 0.035 0.2440
74 0.046 -0.231
77 0.045 -0.227
77 0.048 0.2252
81 0.047 -0.220
96 0.043 -0.206
110 0.031 0.2052
146 0.046 0.1650
170 0.043 0.1549
175 0.049 -0.148
222 0.041 -0.136
234 0.046 0.1299
236 0.047 0.12877
253 0.048 0.12391
284 0.045 0.11895
319 0.044 -0.1125
340 0.049 -0.1067
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0.0004443



2000 0.985 0.0004100
2000 0.990 -0.000263

| decided to compare the performance of the optimal stopping strategy (OS) with the fixed
sample size strategy (FS) by looking at the expected, or average, squared deviation of the FS
inferred value of u (the relative frequency of heads) from the true value at every value of n at
which OS stopped. The results are plotted on the two graphs below. The dots represent the
squared deviations for OS, while the curve at the bottom represents the expected squared
deviations of FS. | have plotted the lower values of n separately from the higher values of n to
make the graphs more readable. The nearer the x-axis, the smaller the error. Needlessto say, FS
performs much better than OS.
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When the Null Hypothesis is False

Part of the reason that FS performs better may be because the null hypothesis (that u = 0) is

actually true. To test the effect of this, | reran the ssimulations for the cases in which the null
hypothesisisfalse to avarying degrees. The plots below arefor u = .1, and u = .4. Remember

that the true standard deviation is 1 in these simulations, while the standard deviation in a coin

tossing exampleis about 0.5. Therefore, as afraction of the standard deviation, these values of u
correspond roughly to a coin’s propensity to land heads of about .55, ahtbt&. The normal
approximation | have used does not work when the coin propensity is near 1; nor will it work so
well whenn is small. However, I'm sure that one would find that the qualitative results still

hold. The normal distribution is really the more interesting and general one in any case.)

The plot foru = .1 appears below. Even though the null hypothesis is approximately true
(since the postulated valueofliffers from the true value by only 10% of a standard deviation),
there is a huge difference in these results. First, 100% of the trials stoppecthb=f60®, as
opposed to just 60% for the previous case Q). Second, for sample sizes of greater than about
100, OS did better than FS! Moreover, the OS strategy is very accurate around the=piift



These are surprising results, which demand and explanation. | will attempt one later, but first let
me describe the phenomenon some more.
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| left out the 20 points for the smallest values of n in order to see more of the detail for the
remaining 80 points. Therefore, there are 34 instances on the left (14 shown on the plot) for
which OS has a greater error than FS.  When one adds the 4 points on the right for which OS a
dightly greater error, then about 60% of the points were ones for which OS performed better
than FS. When one averages over the errors for al 100 instances, FS comes out to the be more
reliable strategy overall.

One of the noteworthy features of the plot isthe point at the left were OS and FS have the
same expected error. This cross-over point is characterized asfollows. Call the square of the
difference between the null value of i (which is 0) and true value the bias of the null hypothesis.

The biasis ameasure of the degree to which the null hypothesisisfalse. In thefirst run, the bias
was 0 because the null hypothesiswas true. In thisrun, the biasis 1/100. Now consider the
variance of the sample mean. Thisisequal to 1/n. Note that the biasis equal to the variance

when n = 100, and thisis exactly where the null hypothesis and its alternative lead to the same
expected error. So all methods for choosing between the two alternatives must lead to the same
expected error. This phenomenon is exactly as | found in comparing various model selection
methods. SeeThe New Science of Science of Simplitignd “The Key Concepts of Model
Selection: Performance and Generalizabilli@S and FS are no exceptions. This also explains
why there is no cross-over where 0. For then the bias is zero, in which case there iisfoo
which the bias is equal tori/

Let's look at what happens when the true value isf0.4 (below). Again, all the OS trials
stopped, this time all at or befane= 80. Second, the advantage of OS over FS is quite marked
for n greater than about 6, and between 20 and 30, the OS strategy is incredibly accurate. The
pointn = 6 is when the bias is equal to the variance. For valuetess than that FS is more
reliable; for values oh greater than that, OS is more reliable, except for large

The graph (below) shows all 100 instances of the experiments. So, by inspection, we see
that 90% of the cases are ones for which OS performs better than FS. There are some points left
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out at the beginning, so it isstill not clear that OS performs better than FS on average. Butitis
clear that the competition is closer, and that OS will do better for higher values of . That is, on
average, the optional stopping strategy is predictively more accurate in such situations.

Perhapsiit is not surprising that the bias of OS against the null hypothesisisto its advantage
when the null hypothesisis false by a sufficient degree. However, this does not explain why
performs better for intermediate values of n. Itisthisfact that | will explain next.
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An Analogy and an Explanation

Isthere an intuitive explanation for these results? Hereis how I think of optional stopping.

Suppose that a blind-folded person starts at one place and is asked to head in the direction of the

sun. He cannot see the sun, but he can feel the sun’s rays on his face. We expect him to walk
roughly in the direction of the sun, but with some random errors in every step. You (the
experimenter) do not know the direction of the sun, and your job is to infer it from the behavior
of the blind-folded subject.

There are two subjects, whose initials are OS and FS. (OS stands for Optional Stopping,
while FS stands for Fixed Sample size.) OS stops when he hits either of the side lines. Then you
will record his position, and draw a line from that position to his starting point. That line is your
estimate of the direction of the sun.

Now draw a finish line (the vertical line in the figure) that passes through the point at
which OS stopped. FS begins walking from the start, and is stopped as soon as he hits this line,
and not before. Unlike OS, FS is allowed to cross the side lines any number of times. Now
record FS’s position at the finish line. If it is between the side lines, you will infer that the sun is
on the center line. If he is outside the side lines, then draw a line from that position to his starting
point and use this line to estimate the direction of the sun.

The question is: Which inference is the most reliable? That is, on average, which method
of estimating the sun’s direction is associated with least error, where error is measured by the
square of the discrepancy between the estimated line and the true line. If this example is



analogous to the simulated problem (and | believe it is), then we know that the answer depends
on three things. (1) The bias, which is the discrepancy between the true direction of the sun and
the center line. The null hypothesisisthat. If the direction of the sun is along the center line (the
null hypothesisistrue), then FS will be the more reliable predictor, on average, because 95% of
the time you will be exactly right. The OSline, on the other hand, is always outside the center
line, and therefore your inference will always be wrong by at least that amount.

But what if the sun is off the center line (as shown in the diagram)? Now, whenever you
reject the null hypothesis, you are making a mistake. Nevertheless, the OS estimate will be
wrong most of the timetoo. So, why should OS have an advantage? It depends on the value of
n, where n is the number of steps taken from the start. | will consider one possible value of n
that will make the OS estimate extremely accurate. Suppose that the n at which OS stopped is
such that the finish line passes through the point at which the true line to the sun crosses one of
the side lines. (There must be such a point if the sun is not on the center line)) Given that OS
stops on this line, and he has moved roughly in the direction of the sun, OS will have stopped
very close to the point at which these lines intersect (see the diagram above). Hence, the OS
estimate will be fairly accurate, or aleast far more accurate than FS, on average, because FS will
crossthefinish line at avariety of points normally distributed around this point. Remember that
if FS’s resting place is below this point, then the inferred direction will be the center line, which
Is inaccurate. If it is above the point (see the diagram), then it is most frequently well above the
point at which OS stopped because OS has only just stepped over the side line. FS may have
been over the side line for some time. This argument also holds approximately for values of
close to this critical value. This explains the middle region of my plots, in which OS provides
very accurate results, which are far more accurate than FS.

A second phenomenon is as follows. Suppose, against all odds, OS gets well past the finish
line shown in the diagram. Then OS will still finish near the upper side line. But this now
provides an inaccurate estimate of the sun’s direction. FS, on the other hand, will do better
because he is not constrained to stop near the side line. This explains the points on the far right
of my plots, for which FS begins to perform better than OS.

In summary, for small values of FS performs better than OS. When the bias is equal to
the variance, FS and OS perform the same (on average). For middle valp@Sagierforms
better than FS. For large valuendif there are any), FS does better than OS once again.
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